

Bol. Soc. Paran. Mat. ©SPM -ISSN-2175-1188 ON LINE SPM: www.spm.uem.br/bspm (3s.) **v. 39** 6 (2021): 211–222. ISSN-00378712 IN PRESS doi:10.5269/bspm.41464

On Generalized Weakly Symmetric Kenmotsu Manifolds

Kanak Kanti Baishya and Partha Roy Chowdhury

ABSTRACT: This paper aims to introduce the notions of a generalized weakly symmetric Kenmotsu manifolds and a generalized weakly Ricci-symmetric Kenmotsu manifolds. The existence of a generalized weakly symmetric Kenmotsu manifold is ensured by a non-trivial example.

Key Words: Generalized weakly symmetric Kenmotsu manifolds, Generalized weakly Ricci-symmetric Kenmotsu manifolds.

Contents

1	Introduction	211
2	Kenmotsu manifolds and some known results	212
3	Generalized weakly symmetric Kenmotsu manifold	213
4	Generalized weakly Ricci-symmetric Kenmotsu manifold	217
5	Example of an (GWS) ₃ Kenmotsu manifold	219

1. Introduction

The notion of weakly symmetric Riemannian manifold have been introduced by Tamássy and Binh [12]. Thereafter, a lot of research has been carried out in this topic. For details, we refer to [21], [19], [5], [6], [15], [16], [1], [20], [7] and the references there in. In the sprit of [12], a Kenmotsu manifold $(M^n, g)(n > 2)$, is said to be a weakly symmetric manifold, if its curvature tensor \bar{R} of type (0, 4) is not identically zero and admits the identity

$$\begin{array}{lcl} (\nabla_X \bar{R})(Y,U,V,\;W) & = & A_1(X)\bar{R}(Y,U,V,\;W) \\ & & + B_1(Y)\bar{R}(X,U,V,\;W) + B_1(U)\bar{R}(Y,X,V,\;W) \\ & & + D_1(V)\bar{R}(Y,U,X,\;W) + D_1(W)\bar{R}(Y,U,V,\;X) \\ \end{array}$$

where A_1 , B_1 & D_1 are non-zero 1-forms defined by $A_1(X) = g(X, \sigma_1)$, $B_1(X) = g(X, \varrho_1)$ and $D_1(X) = g(X, \pi_1)$, for all X and $\bar{R}(Y, U, V, W) = g(R(Y, U)V, W)$, ∇ being the operator of the covariant differentiation with respect to the metric tensor g. An n-dimensional Kenmotsu manifold of this kind is denoted by $(WS)_n$ -manifold.

2010 Mathematics Subject Classification: 53C15, 53C25. Submitted January 25, 2018. Published July 29, 2018

Keeping in tune with Dubey [17], we shall call a Kenmotsu manifold of dimension n, a generalized weakly symmetric (which is abbreviated hereafter as $(GWS)_n$ -manifold) if it admits the equation

$$(\nabla_X \bar{R})(Y, U, V, W) = A_1(X)\bar{R}(Y, U, V, W) + B_1(Y)\bar{R}(X, U, V, W) + B_1(U)\bar{R}(Y, X, V, W) + D_1(V)\bar{R}(Y, U, X, W) + D_1(W)\bar{R}(Y, U, V, X) + A_2(X)\bar{G}(Y, U, V, W) + B_2(Y)\bar{G}(X, U, V, W) + B_2(U)\bar{G}(Y, X, V, W) + D_2(V)\bar{G}(Y, U, X, W) + D_2(W)\bar{G}(Y, U, V, X) (1.2)$$

where

$$\bar{G}(Y, U, V, W) = [g(U, V)g(Y, W) - g(Y, V)g(U, W)]$$
(1.3)

and A_i , B_i & D_i are non-zero 1-forms defined by $A_i(X) = g(X, \sigma_i)$, $B_i(X) = g(X, \rho_i)$, and $D_i(X) = g(X, \pi_i)$, for i = 1, 2. The beauty of such $(GWS)_n$ -manifold is that it has the flavour of

- (i) locally symmetric space [4] (for $A_i = B_i = D_i = 0$),
- (ii) recurrent space [2](for $A_1 \neq 0, A_2 = B_i = D_i = 0$),
- (iii) generalized recurrent space [17] $(A_i \neq 0. \quad B_i = D_i = 0)$,
- (iv) pseudo symmetric space [13] (for $\frac{A_1}{2} = B_1 = D_1 = H_1 \neq 0$, $A_2 = B_2 = D_2 = 0$),
 - (v) generalized pseudo symmetric space [9] (for $\frac{A_i}{2} = B_i = D_i = H_i \neq 0$),
 - (vi) semi-pseudo symmetric space [14] (for $A_i = B_2 = D_2 = 0, B_1 = D_1 \neq 0$),
 - (vii) generalized semi-pseudo symmetric space [8] (for $A_i = 0, B_i = D_i \neq 0$),
- (viii) almost pseudo symmetric space [13] (for $A_1 = H_1 + K_1$, $B_1 = D_1 = H_1 \neq 0$ and $A_2 = B_2 = D_2 = 0$),
- (ix) almost generalized pseudo symmetric space [10] (or $A_i = H_i + K_i, B_i = D_i = H_i \neq 0$),
 - (x) weakly symmetric space [12] (for $A_1, B_1, D_i \neq 0, A_2 = B_2 = D_2 = 0$).

Our work is structured as follows. Section 2 is concerned with Kenmotsu manifolds and some known results. In section 3, we have investigated a generalized weakly symmetric Kenmotsu manifold and it is observed that such a space is an η -Einstein manifold provided $D_1(\xi)\neq -1$. We also tabled different type of curvature restrictions for which Kenmotsu manifolds are sometimes Einstein and some other time remain η -Einstein. Section 4, is concerned with a generalized weakly Ricci-symmetric Kenmotsu manifold which is also found to be η -Einstein space. Finally, we have constructed an example of ageneralized weakly symmetric Kenmotsu manifold.

2. Kenmotsu manifolds and some known results

Let M be a n-dimensional connected differentiable manifold of class C^{∞} -covered by a system of coordinate neighborhoods (U, x^h) in which there are given a tensor field ϕ of type (1,1), a cotravariant vector field ξ and a 1-form η such that

$$\phi^2 X = -X + \eta(X)\xi, \tag{2.1}$$

$$\eta(\xi) = 1, \quad \phi \cdot \xi = 0, \quad \eta(\phi X) = 0, \tag{2.1}$$

for any vector field X on M. Then the structure (ϕ, ξ, η) is called contact structure and the manifold M^n equipped with such structure is said to be an almost contact manifold, if there is given a Riemannian compatible metric g such that

$$g(\phi X, Y) = -g(X, \phi Y), \qquad g(X, \xi) = \eta(X), \tag{2.3}$$

$$g(\phi X, \phi Y) = g(X, Y) - \eta(X)\eta(Y), \tag{2.4}$$

for all vector fields X and Y, then we say M is an almost contact metric manifold. An almost contact metric manifold M is called a Kenmotsu manifold if it satisfies [11],

$$(\nabla_X \phi) Y = -g(X, \phi Y) \xi - \eta(Y) \phi(X), \tag{2.5}$$

for all vector fields X and Y, where ∇ is a Levi-Civita connection of the Riemannian metric. From the above it follows that

$$\nabla_X \xi = X - \eta(X)\xi, \tag{2.6}$$

$$(\nabla_X \eta)Y = g(X,Y) - \eta(X) \eta(Y), \tag{2.7}$$

In a Kenmotsu manifold the following relations hold ([18], [3]):

$$R(X,Y)\xi = \eta(X) Y - \eta(Y)X, \tag{2.8}$$

$$S(X,\xi) = -(n-1)\eta(X),$$
 (2.9)

$$R(X,\xi)Y = q(X,Y)\xi - \eta(Y)X, \tag{2.10}$$

$$R(\xi, X)Y = \eta(Y)X - q(X, Y)\xi \tag{2.11}$$

for any vector fields X,Y,Z where R is the Riemannian curvature tensor of the manifold.

3. Generalized weakly symmetric Kenmotsu manifold

In this section, we consider a generalized weakly symmetric Kenmotsu manifold $(M^n, g)(n > 2)$. Now, contracting Y over W in both sides of (1.2), we get

$$(\nabla_X S)(U, V) = A_1(X)S(U, V) + B_1(U)S(X, V) + B_1(R(X, U)V) + D_1(R(X, V)U) + D_1(V)S(U, X) + (n-1)[A_2(X)g(U, V) + B_2(U)g(X, V) + D_2(V)g(U, X)] + B_2(G(X, U)V) + D_2(G(X, V)U).$$

As a consequence of (2.8), (2.9) and (2.10) the above equatiom yields

$$\begin{array}{lcl} (\nabla_X S)(U,\xi) & = & -(n-1)A_1(X)\eta(U) - (n-2)B_1(U)\eta(X) \\ & & + D_1(\xi)S(U,X) - \eta(U)B_1(X) - \eta(U)D_1(X) + g(X,U)D_1(\xi) \\ & & + (n-1)[A_2(X)\eta(U) + B_2(U)\eta(X) + D_2(\xi)g(U,X)] \\ & & + \eta(U)B_2(X) - \eta(X)B_2(U) + \eta(U)D_2(X) - g(U,X)D_2(\xi) \end{array}$$

for $V = \xi$. Again, replacing V by ξ , in the following identity

$$(\nabla_X S)(U, V) = \nabla_X S(U, V) - S(\nabla_X U, V) - S(U, \nabla_X V)$$
(3.1)

and then making use of (2.1), (2.6), (2.9), we find

$$(\nabla_X S)(U, \xi) = -(n-1)g(X, U) - S(U, X). \tag{3.2}$$

Now, using (3.2) in (3.1), we have

$$-(n-1)g(X,U) - S(U,X)$$

$$= -(n-1)A_1(X)\eta(U) - (n-2)B_1(U)\eta(X)$$

$$+D_1(\xi)S(U,X) - \eta(U)B_1(X) + g(X,U)D_1(\xi) - \eta(U)D_1(X)$$

$$+(n-1)[A_2(X)\eta(U) + B_2(U)\eta(X) + D_2(\xi)g(U,X)]$$

$$+\eta(U)B_2(X) - \eta(X)B_2(U) + \eta(U)D_2(X) - g(U,X)D_2(\xi)$$

$$(3.3)$$

which leaves

$$[A_1(\xi) + B_1(\xi) + D_1(\xi)] = [A_2(\xi) + B_2(\xi) + D_2(\xi)]$$
(3.4)

for $X = U = \xi$. In particular, if $A_2(\xi) = B_2(\xi) = B_2(\xi) = D_2(\xi) = 0$, (3.4) turns into

$$A_1(\xi) + B_1(\xi) + D_1(\xi) = 0. \tag{3.5}$$

This leads to the following

Theorem 3.1. In a generalized weakly symmetric Kenmotsu manifold $(M^n, g)(n > 2)$, the relation (3.4) hold good.

In a similar manner, we can have

$$-(n-1)g(X,V)-S(V,X)$$

$$= -(n-1)A_1(X)\eta(V) - (n-2)D_1(V)\eta(X)]$$

$$+B_1(\xi)S(X,V)+g(X,V)B_1(\xi) - \eta(V)B_1(X) - \eta(V)D_1(X)$$

$$+(n-1)[\{A_2(X)\}\eta(V) + B_2(\xi)g(X,V) + D_2(V)\eta(X)]$$

$$+\eta(V)B_2(X) - \eta(X,V)B_2(\xi) + \eta(V)D_2(X) - \eta(X)D_2(V).$$
(3.6)

Now, putting $V = \xi$ in (3.6) and using (2.1), (2.9), we obtain

$$(n-1)A_1(X) + B_1(X) + D_1(X) + (n-2)[B_1(\xi) + D_1(\xi)]\eta(X)$$

$$= [(n-1)A_2(X) + (n-2)\{B_2(\xi) + D_2(\xi)\}\eta(X)] + B_2(X) + D_2(X).$$
(3.7)

Putting $X = \xi$ in (3.6) and using (2.1), (2.2), (2.9), we obtain

$$(n-1)[A_1(\xi) + B_1(\xi)]\eta(V) + (n-2)D_1(V) + \eta(V)D_1(\xi)$$

$$= (n-1)[\{A_2(\xi) + B_2(\xi)\}\eta(V) + D_2(V)] + \eta(V)D_2(\xi) - D_2(V).$$
(3.8)

Replacing V by X in the above equation and using (3.4), we get

$$D_1(X) - D_1(\xi)\eta(X) = D_2(X) - D_2(\xi)\eta(X)$$
(3.9)

Moreover, in view of (3.4), (3.7) and (3.9), we get

$$B_1(X) - B_1(\xi)\eta(X) = B_2(X) - B_2(\xi)\eta(X). \tag{3.10}$$

Subtracting (3.9), (3.10) from (3.7), we get

$$A_1(X) + [B_1(\xi) + D_1(\xi)]\eta(X) = A_2(X) + \{B_2(\xi) + D_2(\xi)\}\eta(X)]. \tag{3.11}$$

Again, adding (3.9), (3.10) and (3.11), we get

$$A_1(X) + B_1(X) + D_1(X) = [A_2(X) + B_2(X) + D_2(X)]. \tag{3.12}$$

Next, for the choice of $A_2 = B_2 = C_2 = D_2 = 0$, the relation (3.12) yields

$$A_1(X) + B_1(X) + D_1(X) = 0. (3.13)$$

This motivates us to state the followings

Theorem 3.2. In a generalized weakly symmetric Kenmotsu manifold $(M^n, g)(n > 2)$, the sum of the associated 1-forms is given by (3.12).

Theorem 3.3. There does not exist a Kenmotsu manifold which is

- (i) recurrent,
- (ii) generalized recurrent provided the 1-forms associated to the vector fields are collinear,
 - (iii) pseudo symmetric,
- (iv) generalized semi-pseudo symmetric provided the 1-forms associated to the vector fields are collinear.

Again from (3.3), putting $X = \xi$, we have

$$(n-1)[-\{A_1(\xi) - A_2(\xi)\} - \{D_1(\xi) - D_2(\xi)\}]\eta(U)$$

$$= \{B_1(\xi) - B_2(\xi)\}\eta(U) + (n-2)\{B_1(U) - B_2(U)\}$$
(3.14)

Using (3.4), above equation becomes

$$\{B_1(\xi) - B_2(\xi)\}\eta(U) = B_1(U) - B_2(U)$$
(3.15)

Setting $U = \xi$, we have

$$-(n-1)\{A_1(X) - A_2(X)\} - \{B_1(X) - B_2(X)\} - \{D_1(X) - D_2(X)\}.16)$$

$$= -(n-2)\{A_1(\xi) - A_2(\xi)\}$$

Using (3.4) in (3.16), we obtain

$$\{A_1(\xi) - A_2(\xi)\}\eta(X) = A_1(X) - A_2(X) \tag{3.17}$$

Again from (3.3), we have

$$S(U,X) = \frac{[(n-1)\{A_1(X) - A_2(X)\} + \{B_1(X) - B_2(X)\} + \{D_1(X) - D_2(X)\}]}{[1+D_1(\xi)]} \eta(U)$$

$$-\frac{[(n-1)\{1 + D_2(\xi)\} + D_1(\xi) - D_2(\xi)]}{[1+D_1(\xi)]} g(X,U)$$

$$-\frac{(n-2)[B_1(U) - B_2(U)]}{[1+D_1(\xi)]} \eta(X)$$
(3.18)

In view of (3.15), (3.17) and (3.18), we have

$$S(U,X) = -\frac{[(n-1)\{1+D_2(\xi)\}+D_1(\xi)-D_2(\xi)]}{[1+D_1(\xi)]}g(X,U)$$

$$+\frac{(n-2)[\{A_1(\xi)-A_2(\xi)\}-\{B_1(\xi)-B_2(\xi)\}]}{[1+D_1(\xi)]}\eta(U)\eta(X)$$
(3.19)

This leads to the followings

Theorem 3.4. A generalized weakly symmetric Kenmotsu manifold is an η -Einstein space provided $D_1(\xi) \neq -1$.

Theorem 3.5. In a Kenmotsu manifold the following table hold good

Type of curvature restriction	Nature of the space corresponding to curvature restriction
locally symmetric space	Einstein space
locally recurrent space	η -Einstein space
generalized recurrent space	η -Einstein space
pseudo symmetric space	η -Einstein space
generalized pseudo symmetric space	η -Einstein space
semi-pseudo symmetric space	η -Einstein space
generalized semi-pseudo symmetric space	η -Einstein space
almost pseudo symmetric space	η -Einstein space
almost generalized pseudo symmetric space	η -Einstein space
weakly symmetric space	η -Einstein space

4. Generalized weakly Ricci-symmetric Kenmotsu manifold

A Kenmotsu manifold $(M^n, g)(n > 2)$, is said to be a generalized weakly Riccisymmetric if there exist 1-forms \bar{A}_i , \bar{B}_i and \bar{D}_i which satisfy the condition

$$(\nabla_X S)(U, V) = \bar{A}_1(X)S(U, V) + \bar{B}_1(U)S(X, V) + \bar{D}_1(V)S(U, X) + \bar{A}_2(X)g(U, V) + \bar{B}_2(U)g(X, V) + \bar{D}_2(V)g(U, X).$$
(4.1)

Putting $V = \xi$ in (4.1), we obtain

$$(\nabla_X S)(U,\xi) = (n-2)[\bar{A}_1(X)\eta(U) + \bar{B}_1(U)\eta(X)] + \bar{D}_1(\xi)S(U,X)$$
(4.2)
+ $\bar{A}_2(X)\eta(U) + \bar{B}_2(U)\eta(X) + \bar{D}_2(\xi)q(U,X).$

In view of (3.2), the relation (4.2) becomes

$$-(n-1)g(X,U) - S(U,X)$$

$$= -(n-1)[\{\bar{A}_1(X) + \bar{B}_1(X)\}\eta(U) + \bar{B}_1(U)\eta(X)] + \bar{D}_1(\xi)S(U,X)$$

$$+ \bar{A}_2(X)\eta(U) + \bar{B}_2(U)\eta(X) + \bar{D}_2(\xi)g(U,X).$$

$$(4.3)$$

Setting $X = U = \xi$ in (4.3) and using (2.1), (2.2) and (2.9), we get

$$(n-1)[\bar{A}_1(\xi) + \bar{B}_1(\xi) + B_1(\xi) + \bar{D}_1(\xi)]$$

$$= [\bar{A}_2(\xi) + \bar{B}_2(\xi) + B_2(\xi) + \bar{D}_2(\xi)].$$
(4.4)

Again, putting $X = \xi$ in (4.3), we get

$$(n-1)[\{\bar{A}_1(\xi) + \bar{B}_1(\xi) + \bar{D}_1(\xi)\}\eta(U) + \bar{B}_1(U)]$$

$$= [\bar{A}_2(\xi) + \bar{B}_2(\xi) + \bar{D}_2(\xi)]\eta(U) + \bar{B}_2(U).$$
(4.5)

Setting $U = \xi$ in (4.3) and then using (2.1), (2.2) and (2.9), we obtain

$$(n-1)[\{\bar{A}_1(X) + \bar{B}_1(X)\} + \{B_1(\xi) + \bar{D}_1(\xi)\}\eta(X)]$$

$$= \bar{A}_2(X) + B_2(\xi)\eta(X) + \bar{D}_2(\xi)\eta(X).$$
(4.6)

Replacing U by X in (4.5) and then adding the resultant with (4.6), we have

$$(n-1)[\bar{A}_{1}(X) + \bar{B}_{1}(X)] - [\bar{A}_{2}(X) + \bar{B}_{2}(X)]$$

$$= -(n-1)[\bar{A}_{1}(\xi) + \bar{B}_{1}(\xi) + \bar{D}_{1}(\xi)]\eta(X) + [\bar{A}_{2}(\xi) + \bar{B}_{2}(\xi)$$

$$\bar{D}_{2}(\xi)]\eta(X) - (n-1)\bar{D}_{1}(\xi)\eta(X) + \bar{D}_{2}(\xi)\eta(X).$$

$$(4.7)$$

By virtue of (4.4), the above equation becomes

$$(n-1)[\bar{A}_1(X) + \bar{B}_1(X)] + (n-1)\bar{D}_1(\xi)\eta(X)$$

$$= [\bar{A}_2(X) + \bar{B}_2(X)] + \bar{D}_2(\xi)\eta(X).$$
(4.8)

Next, putting $X = U = \xi$ in (4.1), we get

$$(n-1)[\bar{A}_1(\xi) + \bar{B}_1(\xi)]\eta(V) + (n-1)\bar{D}_1(V)$$

$$= [\bar{A}_2(\xi) + \bar{B}_2(\xi)]\eta(V) + \bar{D}_2(V).$$
(4.9)

Replacing V by X in (4.9) and adding with (4.8), we obtain

$$(n-1)[\bar{A}_1(X) + \bar{B}_1(X) + \bar{D}_1(X)]$$

$$(n-1)[\bar{A}_1(\xi) + \bar{B}_1(\xi) + \bar{D}_1(\xi)]\eta(V)$$

$$= [\bar{A}_2(X) + \bar{B}_2(X) + \bar{D}_1(X)] + [\bar{A}_2(\xi) + \bar{B}_2(\xi) + \bar{D}_2(\xi)]\eta(V).$$
(4.10)

By virtue of (4.4), the above equatin becomes

$$(n-1)[\bar{A}_1(X) + \bar{B}_1(X) + \bar{D}_1(X)] = [\bar{A}_2(X) + \bar{B}_2(X) + \bar{D}_1(X)]. \tag{4.11}$$

This leads to the followings

Theorem 4.1. In a generalized weakly Ricci symmetric Kenmotsu manifold (M^n, g) (n > 2), the sum of the associated 1-forms are related by (4.11).

Again from (4.3), we have

$$S(U,X) = \frac{1}{-[1+\bar{D}_1(\xi)]} [\bar{D}_2(\xi) + (n-1)] g(X,U)$$

$$+ \frac{1}{[1+\bar{D}_1(\xi)]} [(n-1)\{\bar{A}_1(X) + \bar{B}_1(X)\} - \bar{A}_2(X)] \eta(U)$$

$$+ \frac{1}{[1+\bar{D}_1(\xi)]} [(n-1)\bar{B}_1(U) - \bar{B}_2(U)] \eta(X).$$
(4.12)

From (4.6), we have

$$(n-1)[\{\bar{A}_1(X) + \bar{B}_1(X)\} - \bar{A}_2(X)]$$

$$= [-(n-1)\{B_1(\xi) + \bar{D}_1(\xi)\} + B_2(\xi) + \bar{D}_2(\xi)]\eta(X).$$
(4.13)

Using (4.4) in (4.5), we have

$$(n-1)\bar{B}_1(U) - \bar{B}_2(U) = -(n-1)\bar{B}_1(\xi) + \bar{B}_2(\xi)$$
(4.14)

In view of (4.12), (4.13) and (4.14), we have

$$S(U,X)$$

$$= \frac{[\bar{D}_{2}(\xi) + (n-1)]}{-[1+\bar{D}_{1}(\xi)]}g(X,U)$$

$$+ \frac{[-2\{(n-1)B_{1}(\xi) - B_{2}(\xi)\} - \{(n-1)\bar{D}_{1}(\xi) - \bar{D}_{2}(\xi)\}\}]}{[1+\bar{D}_{1}(\xi)]}\eta(U)\eta(X).$$
(4.15)

This leads to the followings

Theorem 4.2. A generalized weakly Ricci symmetric Kenmotsu manifold is an η -Einstein space provided $D_1(\xi) \neq -1$.

Theorem 4.3. In a Kenmotsu manifold the following table hold good

Type of curvature restriction	Nature of the space corresponding to
1 11 D: :	curvature restriction
locally Ricci symmetric space	Einstein space
locally Ricci recurrent space	η -Einstein space
generalized Ricci recurrent space	η -Einstein space
pseudo Ricci symmetric space	η -Einstein space
$generalized\ pseudo$	η -Einstein space
Ricci symmetric space	
Ricci semi-pseudo symmetric space	η -Einstein space
generalized semi-pseudo	η -Einstein space
Ricci symmetric space	
$almost\ pseudo$	η -Einstein space
Ricci symmetric space	
almost generalized pseudo	η -Einstein space
Ricci symmetric space	
weakly Ricci symmetric space	η -Einstein space

5. Example of an $(GWS)_3$ Kenmotsu manifold

(see [18], page 21-22) Let $M^3(\phi,\xi,\eta,g)$ be a Kenmotsu manifold (M^3,g) with a ϕ -basis

$$e_1 = e^{-z} \frac{\partial}{\partial x}, e_2 = e^{-z} \frac{\partial}{\partial y}, e_3 = \frac{\partial}{\partial z}.$$

Then from Koszul's formula for Riemannian metric g, we can obtain the Levi-Civita connection as follows

$$\begin{array}{llll} \nabla_{e_1}e_3 & = & e_1, & \nabla_{e_1}e_2 = 0, & \nabla_{e_1}e_1 = -e_3, \\ \nabla_{e_2}e_3 & = & e_2, & \nabla_{e_2}e_2 = -e_3, & \nabla_{e_2}e_1 = 0, \\ \nabla_{e_3}e_3 & = & 0, & \nabla_{e_3}e_2 = 0, & \nabla_{e_3}e_1 = 0. \end{array}$$

Using the above relations, one can easily calculate the non-vanishing components of the curvature tensor \bar{R} (up to symmetry and skew-symmetry)

$$\bar{R}(e_1, e_3, e_1, e_3) = \bar{R}(e_2, e_3, e_2, e_3) = 1 = \bar{R}(e_1, e_2, e_1, e_2).$$

Since $\{e_1, e_2, e_3\}$ forms a basis, any vector field $X, Y, U, V \in \chi(M)$ can be written as

$$\begin{array}{lll} X & = & \displaystyle \sum_{1}^{3} a_{i}e_{i}, \ Y = \displaystyle \sum_{1}^{3} b_{i}e_{i}, \ U = \displaystyle \sum_{1}^{3} c_{i}e_{i}, \ V = \displaystyle \sum_{1}^{3} d_{i}e_{i}, \\ \bar{R}(X,Y,U,V) & = & \displaystyle (a_{1}b_{2} - a_{2}b_{1})(c_{1}d_{2} - c_{2}d_{1}) + (a_{1}b_{3} - a_{3}b_{1})(c_{1}d_{3} \\ & - c_{3}d_{1}) + (a_{2}b_{3} - a_{3}b_{2})(c_{2}d_{3} - c_{3}d_{2}) \\ & = & \displaystyle T_{1} \ (say) \\ \bar{R}(e_{1},Y,U,V) & = & \displaystyle b_{3}(c_{1}d_{3} - c_{3}d_{1}) + b_{2} \ (c_{1}d_{2} - c_{2}d_{1}) = \lambda_{1} \ (say) \\ \bar{R}(e_{2},Y,U,V) & = & \displaystyle b_{3}(c_{2}d_{3} - c_{3}d_{2}) - b_{1} \ (c_{1}d_{2} - c_{2}d_{1}) = \lambda_{2} \ (say) \\ \bar{R}(e_{3},Y,U,V) & = & \displaystyle b_{1}(c_{3}d_{1} - c_{1}d_{3}) + b_{2} \ (c_{3}d_{2} - c_{2}d_{3}) = \lambda_{3} \ (say) \\ \bar{R}(X,e_{1},U,V) & = & \displaystyle a_{3}(c_{1}d_{3} - c_{3}d_{1}) + a_{2} \ (c_{1}d_{2} - c_{2}d_{1}) = \lambda_{4} \ (say) \\ \bar{R}(X,e_{2},U,V) & = & \displaystyle a_{3}(c_{2}d_{3} - c_{3}d_{2}) + a_{1} \ (c_{2}d_{1} - c_{1}d_{2}) = \lambda_{5} \ (say) \\ \bar{R}(X,e_{3},U,V) & = & \displaystyle a_{1}(c_{3}d_{1} - c_{1}d_{3}) + a_{2} \ (c_{3}d_{2} - c_{2}d_{3}) = \lambda_{6} \ (say) \\ \bar{R}(X,Y,e_{1},V) & = & \displaystyle a_{3}(a_{1}b_{3} - a_{3}b_{1}) + d_{2} \ (a_{1}b_{2} - a_{2}b_{1}) (= \lambda_{7} \ (say) \\ \bar{R}(X,Y,e_{2},V) & = & \displaystyle d_{3}(a_{2}b_{3} - a_{3}b_{2}) + d_{1} \ (a_{2}b_{1} - a_{1}b_{2}) = \lambda_{8} \ (say) \\ \bar{R}(X,Y,e_{3},V) & = & \displaystyle d_{1}(a_{3}b_{1} - a_{1}b_{3}) + d_{2} \ (a_{3}b_{2} - a_{2}b_{3}) = \lambda_{9} \ (say) \\ \bar{R}(X,Y,U,e_{1}) & = & \displaystyle c_{3}(a_{1}b_{3} - a_{3}b_{1}) + c_{2} \ (a_{1}b_{2} - a_{2}b_{1}) = \lambda_{10} \ (say) \\ \bar{R}(X,Y,U,e_{2}) & = & \displaystyle c_{3}(a_{2}b_{3} - a_{3}b_{2}) + c_{1} \ (a_{2}b_{1} - a_{1}b_{2}) = \lambda_{11} \ (say) \\ \bar{R}(X,Y,U,e_{2}) & = & \displaystyle c_{3}(a_{2}b_{3} - a_{3}b_{2}) + c_{2} \ (a_{2}b_{2} - a_{2}b_{3}) = \lambda_{12} \ (say) \\ \bar{R}(X,Y,U,V) & = & \displaystyle (b_{1}c_{1} + b_{2}c_{2} - b_{3}c_{3})(a_{1}d_{1} + a_{2}d_{2} - a_{3}d_{3}) \\ & - (a_{1}c_{1} + a_{2}c_{2} - a_{3}c_{3})(b_{1}d_{1} + b_{2}d_{2} - b_{3}d_{3}) = T_{2} \ (say) \\ \bar{G}(x,Y,U,V) & = & \displaystyle (b_{1}c_{1} - b_{2}c_{2})d_{3} - (b_{1}d_{1} - b_{3}d_{3})c_{2} = \omega_{2} \ (say) \\ \bar{G}(x,Y,U,V) & = & \displaystyle (b_{1}c_{1} - b_{2}c_{2})d_{3} - (b_{1}d_{$$

and the components which can be obtained from these by the symmetry properties. Now, we calculate the covariant derivatives of the non-vanishing components of the

curvature tensor as follows

$$(\nabla_{e_1}\bar{R})(X,Y,U,V) = -a_1\lambda_3 + a_3\lambda_2 - b_1\lambda_6 + b_3\lambda_5 -c_1\lambda_9 + c_3\lambda_8 - d_1\lambda_{12} + d_3\lambda_{11},$$

$$(\nabla_{e_2}\bar{R})(X,Y,U,V) = -a_2\lambda_3 + a_3\lambda_2 - b_2\lambda_6 + b_3\lambda_5 -c_2\lambda_9 + c_3\lambda_8d_3\lambda_{11} - d_2\lambda_{12} +,$$

$$(\nabla_{e_3}\bar{R})(X,Y,U,V) = 0.$$

Depending on the following choice of the the 1-forms

$$A_{1}(e_{1}) = \frac{a_{3}\lambda_{2} - a_{1}\lambda_{3} + b_{3}\lambda_{5} - b_{1}\lambda_{6}}{T_{1}},$$

$$A_{2}(e_{1}) = \frac{c_{3}\lambda_{8} - c_{1}\lambda_{9} + d_{3}\lambda_{11} - d_{1}\lambda_{12}}{T_{2}},$$

$$A_{1}(e_{2}) = \frac{a_{3}\lambda_{2} - a_{2}\lambda_{3} + b_{3}\lambda_{5} - b_{2}\lambda_{6}}{T_{1}},$$

$$A_{2}(e_{2}) = \frac{c_{3}\lambda_{8} - c_{2}\lambda_{9} + d_{3}\lambda_{11} - d_{2}\lambda_{12}}{T_{2}},$$

$$B_{1}(e_{3}) = \frac{1}{a_{3}\lambda_{3} + b_{3}\lambda_{6}}, B_{2}(e_{3}) = \frac{1}{a_{3}\theta_{3} + b_{3}\theta_{6}},$$

$$D_{1}(e_{3}) = -\frac{1}{c_{3}\lambda_{9} + d_{3}\lambda_{12}}, D_{2}(e_{3}) = -\frac{1}{c_{3}\theta_{9} + d_{3}\theta_{12}},$$

one can easily verify the relations

$$\begin{array}{lll} (\nabla_{e_i}\bar{R})(X,Y,U,V) & = & A_1(e_i)\bar{R}(X,Y,U,V) + B_1(X)\bar{R}(e_i,Y,U,V) \\ & & + B_1(Y)\bar{R}(X,e_i,U,V) + D_1(U)\bar{R}(X,Y,e_i,V) \\ & & + D_1(V)\bar{R}(X,Y,U,e_i) + A_2(e_i)\bar{G}(X,Y,U,V) \\ & & + B_2(X)\bar{G}(e_i,Y,U,V) + B_2(Y)\bar{G}(X,e_i,U,V) \\ & & + D_2(U)\bar{G}(X,Y,e_i,V) + D_2(V)\bar{G}(X,Y,U,e_i) \end{array}$$

for 1, 2, 3. From the above, we can state that

Theorem 5.1. There exixt a Kenmotsu manifold (M^3, g) which is a generalized weakly symmetry Kenmotsu manifold.

Acknowledgments

Author would like to thank UGC, ERO-Kolkata, for their financial support.

References

- Shaikh, A. A., Baishya, K. K., On weakly quasi-conformally symmetric manifolds., Soochow J. of Math. 31(4), 581-595, (2005).
- Walker, A. G., On Ruse's space of recurrent curvature, Proc. of London Math. Soc. 52, 36-54, (1950).

- Janssens, D., Vanhecke, L., Almost contact structures and curvature tensors, Kodai Math. j. 4, 1-27, (1981).
- Cartan, E., Sur une classes remarquable d'espaces de Riemannian, Bull. Soc. Math. France, 54, 214-264, (1926).
- Özen, F., Altay, S., On weakly and pseudo symmetric riemannian spaces, Indian Journal of Pure and Applied Mathematics, 33(10), 1477-1488, (2001).
- Özen, F., Altay, S., On weakly and pseudo concircular symmetric structures on a Riemannian manifold, Acta Universitatis Palackianae Olomucensis. Facultas Rerum.
- June, J. B., Dey, U. C., Pathak, G., On Kenmotsu manifolds, J. Korean Math. Soc., 42(3), 435-445, (2005).
- 8. Baishya, K. K., On generalized semi-pseudo symmetric manifold, submitted.
- 9. Baishya, K. K., On generalized weakly symmetric manifold, Bulletin of the Transilvania University of Brasov, Series III, Maths, Informatics, Physics, 10(59), 31–38, (2017).
- 10. Baishya, K. K., On almost generalized pseudo symmetric manifolds, submitted.
- 11. Kenmotsu, K., A class of almost contact Riemannian manifolds, Tohoku Mathematical Journal, 24(1), 93-103, (1972).
- Tamássy, L., Binh, T. Q., On weakly symmetric and weakly projective symmetric Riemannian manifolds, Coll. Math. Soc., J. Bolyai, 56, 663–670, (1989).
- 13. Chaki, M. C., On pseudo Ricci symmetric manifolds, Bulg. J. Physics, 15, 526-531, (1988).
- Tarafdar, M., Jawarneh, M. A. A., Semi-Pseudo Ricci Symmetric manifold, J. Indian. Inst. of Science., 73, 591–596, (1993).
- 15. Prvanovic, M., On weakly symmetric riemannian manifolds. Publicationes Mathematicae Debrecen, 46, 19–25, (1995).
- 16. Prvanovic, M., On totally umbilical submanifolds immersed in a weakly symmetric riemannian manifolds. Publicationes Mathematicae Debrecen, 6, 54–64, (1998).
- Dubey, R. S. D., Generalized recurrent spaces, Indian J. Pure Appl. Math., 10, 1508-1513, (1979).
- 18. S. K. Dey and K. K. Baishya, On the existence of some types on Kenmotsu manifolds, Universal Journal of Mathematics and Mathematical Sciences., 3(2), 13–32, (2014).
- 19. Hui, S. K., Shaikh, A. A., Roy, I., On totaly umbilical hypersurfaces of weakly conharmonically symmetric spaces, Global Journal of Pure and Applied Mathematics, 10(4), 28–31, (2010).
- 20. Jana, S. K., Shaikh, A. A., On quasi-conformally flat weakly Ricci symmetric manifolds. Acta Math. Hungarica, 115(3), 197–214, (2007).
- De, U. C., Bandyopadhyay, S., On weakly symmetric spaces, Acta Mathematics Hungarica, 83, 205–212, (2000).

Kanak Kanti Baishya, Department of Mathematics, Kurseong College, India.

 $E ext{-}mail\ address: kanakkanti.kc@gmail.com}$

and

Partha Roy Chowdhury, Shaktigarh Bidyapith(H.S), India.

E-mail address: partha.raychowdhury81@gmail.com